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Topic of the lesson: Conditional operator. Multiple branching

Learning objective(s)
that this lesson is
contributing to

To acquaint students with the conditional operator and multiple branching by applying
them when compiling programs in the Python programming language. .......

Lesson objectives

All learners will be able to:

° YMCTb IIPaBUJIBHO 3allMCbIBATb YCJIOBHLIfI orneparop U MHOKCCTBCHHOC
BCTBJICHUC U pCICHUA KOHKPCTHBIX 3a/1a4,

e Most learners will be able to:
Apply a conditional operator and multiple branches when compiling a program
for solving problems;

e Some learners will be able to:
be able to find errors in the compiled program.

Assessment Criteria

Student:

- explains the principle of the conditional operator and multiple branching;

- fixes errors in the program with a conditional statement and multiple branching;

- independently develops an algorithm and program for solving the problem using a
conditional operator or multiple branches

Value links

education of an emotionally positive orientation to practical activities, interest in
computer science, personal responsibility for the results of their work.

Previous learning

Data types. Variable definition Logical expressions

Cross curricular links

Computer science, mathematics

Time

Planned activities Resources

Organizing time. Motivation for learning activities. Goal setting.

Beglrr1nnilr?g Knowledge Update
o In the last lesson, you became familiar with data types. Definition of a variable, by
logical expressions. Give your examples of tasks.
Middle Open notebooks and write down the topic of the lesson: “Conditional if
min statement”.

In the last lesson, we learned how to write linear Python programs. Today we are
going to learn the “branching” or “conditional if statement” construct.

If translated into Russian, the construction of a conditional statement means the
following:

If the <condition is met> do: some action.
For instance:
if a>b:
print (a)
"If a is greater than b, then print a."

Or:




if x==y:
Z=xX+y
7=7*7

“If x is equal to y, then z assign the value x + y, and square z.”

Indentation is important! They are part of the code. Actions will be
performed only if they are all indented, and with the same number of indents. By
default, the Python community makes 4 indents.

The general form of writing an incomplete form of a conditional statement:

if < condition >:

<act 1>
<act 2>
Task. What will be printed as a result of the program?

a=7

b=9

if a>b:

print(a)

(Answer: nothing)

HenonHas ¢popma ycrnoBHOro onepartopa

PyCCI{MM A3bIKOM:
Ecnu <BbinonHaeTca yCnoBue> aenaTbh. Kakne-To OencTeng.

Mpumep 1: if a>b: Mpumep 2 if x==y:
print(a) z=x+V
Zz=z*Z

if — xecnu» B NepeBoe C aHrMUNCKOro 2

OTcTynbl BaxHbl! OHU — YacTb Kofa. CTaHOapTHO B
Python-coobwecTBe npuHATO genatb 4 npobena.

3apava. YTo Byger HaneuaTaHo B

Obwas dopma sanvcu: pesynerare paboTsl NporpamMmel?
if <ycnoepme>:

<pelcTBHMe 1> a=7

<pelcTBEMe 2> b=3

uT.g. if a>b:
print(a)




3anuck B TeTpaasb!

HenonHas ¢popma ycrnoBHOro oneparopa

Ob6Lwasa dpopma 3anucu: Mpumep:
if <ycnmoBue>:

" if a>b:
<ne¥CTBHe 1> print (a)
<OeucTBHUE 2> 2
uT.O.

4 npob6enal!

This was an incomplete form of a conditional statement. But the
conditional operator also has a full form. In Russian, it sounds like this:

If <condition is fulfilled>: do some action. Otherwise: do other things.
Otherwise, it means "if the condition is not met."
For example:
if a>b:

print(a)
else:

print (b)
“If a is greater than b, then print a, otherwise print b.
The general form of writing an incomplete form of a conditional statement:
if <condition >:
< actions 1>
else:

< actions 2>

3amaua. Yto OyneT HameyaTaHo B pe3yabTaTe paboThl MPOrpamMmbl?
a=8
b=5
if a<b:

print (a)
else:

print (b)




MonHasA popma yCroBHOro oneparopa

PyccKuM A3LIKOM:
Ecnu <BbINONHAETCA ycrnoBue> AenaTk: Kakue-To OelcTBus.
WHaue: genatb gpyrue gerctBus.

else — «MHa4Ye» B

Mpumep: it a>bf nepeBO4E C aHrMUINCKoro
print(a)
else: 3apgauva. Yto Byget
print (b) HaneuaTaHo B pesynkraTte
paboTel NporpaMmmel?
Obwasa dopma sanucu: a=8
if <ycnoBmue>: b=5
<pestcTBHMS 1> if a<b:
else: print (a)
<meMcTBEMA 2> else:
print (b)

3anuck B TeTpaasb!

MonHana chopma yCrOBHOro onepaTtopa

ObLwaa hopma 3anucu: Mpumep:
if <ycnoeue>:

” if a>b:
<mercTBUS 1> print(a)

else: 5 else:
<OeluCTBUSA 2> print (b)

Often there are tasks with a large number of conditions and actions that
need to be performed when these conditions are met. The if-else construct is not
enough, and then the elif operator comes to the rescue. It is explained in Russian
as follows:

If <condition 1 is satisfied>: do such and such actions. Otherwise, if
<condition 2 is satisfied>: do other actions.

Otherwise, if <condition 3 is satisfied>: do the third action.

Otherwise: do something else.

The latter “otherwise” means “if none of the above actions are performed.”
The presence of “otherwise” is not necessary. For example:

cost = 1500

if cost < 1000:

print ( " No discounts " )

elif cost < 2000:




print ( " A discount 2%" )
elif cost < 5000:

print ( " A discount 5%" )
else:

print ( " A discount 10%" )

What will be printed as a result of the program? (Answer: Discount)

OnepaTtop elif
F’yccmm A3bBIKOM:
Ecnn <BbinonHaeTcs ycrnosue 1>: penaTtb Takne-To AelCTBUS.
MHaue ecnu <BbINONHAETCA ycnosue 2= AenaTte gpyrue ,D,EIFICTBMH
MHaye ecnu <BbINONHAETCH ycrnosue 3>: penatb TPETbK nencteuna
WNHaue: genatb uto-TO eLé.

Mpumep: Ob6waga cdopma sanuncu:
cost = 1500 if <ycnoBue>:
if cost < 1000: <pericTBMa 1>
print ( "Ckugox HeT." ) elif <ycnoemue>:
elif cost < 2000: <penicTBMA 2>
print ( "Cxupgxa 2%." ) elif <ycnoemue>:
elif cost < 5000: <pericTBMa 3>
print ( "Cxmugxa 5%." ) .
else: else:
print ( "Cxmgxa 10%." ) <@elCcTBEMA n>

Uto Byaer HaneyataHo?

3anuchb B TeTpaab!

Onepartop elif
Obwasa dopma sanucu: Mpumep:

if <ycnoBme>: cost = 1500

<peiicTBua 1> if cost < 1000:

elif <ycnoeme>: print ("Cxugox HeT.")

<pencTeus 2> elif cost < 2000:
elif <ycnosme>: print("Cxugkxa 2%.")

<pelicTBMS 3> elif cost < 5000:
print "Cxugka 5%.")
else: else:

<percTBUI n> print ("Cxuoxa 10%.")

Signs of relationship:

> more

<less

== equals

> = greater than or equal
<= less than or equal

I = not equal




3annck B TeTpaakb!

3HaKMN OTHOLIEHUMN:

> OQonblle

< MeHblle

== paBHO

>= QOnblUE U1 paBHO
<= MEHbLLE UNKN PaBHO
I= He paBHO

Difficult conditions.

To make a difficult condition, the following operators are used:

and - and

or-"or"

not - not

For example:

if a>0 and a<10 or a==100:
print(a)

Will a be printed ifa is 7? And if a is equal to 20?

A priority :

1) relations (<,>, <=,> =, ==,1 =)

2) not ("NOT")

3) and (“And”)

4) or ("OR")




CnoxHble ycnoBusa

YTtobbl cOCTaBUTL CMNOXHOE YCNOBUE WCMNOMb3YKTCA onepaTopkl:

and - «n»
or - «unu»
not - «He»

prmep: if a>»0 and a<1l0 or a==100:
print (a)

Bynet nu HaneyaTaHo a, ecnu a=7? A ecnn a=207?

[MpuopunTET:
1) OTHOLWEHNA (<, >, <=, >= == =)
2) not
3) and

)

4) or

3annck B TeTpaab!

CnoXHble ycnoBus
and - «n»
or - «unuy»
not - «He»

Mpumep: if a>0 and a<10 or a==100:
print (a)

OTHOLLEHMA (<, >, <=, >= == [=)
not

Share into 4 groups and solve problems in groups
Sasavya «MMHMMYM 13 TpexX 4Mcea»

,ﬂ,a]—lm TP ITeABIX UMCAAa. BI)IBE,ZI,I/ITQ SHaYeHMe HAITMEeHBIIIEeTO M3 HITX.

BxoaHbIe AgaHHbIE ITpaBILABHEBIN OTBET
537 3
10304 4
-5-3 -3 -5




Jagada «Xo4 Aaabl»

IMTaxMaTHaA AaAbA XOAUT 110 TOPU30HTAAN MAY BepTUKaAN. /aHbI ABe
pasANYHEIe KASTKH IaXMaTHOJ JOCKH, OIIpeJednTe, MOXKeT AN Aa b
IIOIIACTE C IIePBO KAeTKH Ha BTOPYIO 0 4HMM xo oM. [Iporpamma
moAydaeT Ha BXOJ YeTeIpe uncaa oT 1 40 8 Kaxkaoe, 3ajaloIiie HoMep
CcT0A011a 11 HOMep CTPOKM CHa4aAa AAA [IePBOIl KA€TKH, IOTOM AAd
BTOpOI1 KAeTKI. [Tporpamma go45kHa BeiecTn YES, ecan us niepsoit
KAeTKM XOA0M AaAb} MOKHO IIOIIacThk B0 BTOpyIo MAu NO B

I POTHBHOM CAyYae.
BxoaHble saHHBIE ITpaBMABHEBIN OTBET
4455 NO
4454 YES

End Reflection:
min | 1. What did we learn today?

3. What did you do?

4. What did you fail?

5. How can this be fixed?
Homework

Problem NeS page 55

2. What were your difficulties in completing the tasks?

Differentiation — how do you plan to give
more support?
How do you plan to challenge the more
able learners?

Assessment — how are you
planning to check learners’
learning?

Health and Safety

More capable students can act as consultants
on a new topic. Help weak students. Improve
your projects.

Self-esteem at every stage of the
lesson

Evaluation of each of the tasks
solved, scoring.

Compliance with the regulations
when working on a computer.
Active activities.




